1£10-0210~.010-€010~1010-8600: = V¥

= H

H
iz IF
N e Y S 3 2R o= 0 IO 0 3 3 [k Y

N

-118.5

11111

=122 km

\

\ P &0
@ “‘/ 'i (\ %
—_— ‘ t \
g @ (1 \\ \ >
B N
~ 2
o <
\\ \
i NN
\ AW
L
17 I 1 \ \

s
@
o
5
By B

2D
=
D =
=) ° ‘ ~
o o
"
&
/\“{J b
>

NN

% N
® ®
\\ R
&Tr\
“é (1
D
S)
Q
N\ =

36.3 k

L8R 21

=F=

R ITZE S -0098-0101~0103-0107~0120-0171

Mol rRcHE D

54
=

|<} 2

1:5,000
9 100 200 300 400 590

1,QOOm

Rl = RS E OCE L e R AR () R 6JHs 302 ‘
OB, E L ERERORKRERSC, FEETOBFMBRZHVTERLZLDTHS.
E=ENSHILERTIHEEICE. BT ERRORRDEFRLBOINETLEL,



